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1. T B s E B0 #E B T (arithmetic logic unit, ALU)? (A) CPU, (B) general register, (C) program
counter, (D) memory °

2. BT 6.75 BEFY TR ¢ (A) 110.11, (B) 101.11, (C) 110.01, (D) 111.11

3. K R R (R EAL - (A) 7.6,(B)6.2,(C) 6.6,(D)5.7 -

4. BB -107 BERL two’s complement FETAY —HE{ FRUEEFEAES  (A) 10010101, (B) 01101011, (C)
11101011, (D) 00010101 -

5. MIF—&BEA 1,200 EEREFEVEELH - HFNER 4096x3072 » BRI R 24 bits - HEHE
—iRiaR - WRBRRERE - TFEL/VIUEREETEYA) 3.7M, (B) 120M, (C) 12M, (D) 36M -

6. i —EAR N =]HE? (A) EEf, (B) 418, (C) =, (D) 4 -

7. WE) (LT E e P EEES o I EE RGN ¢ (A) (F17)H(H22), (B) (+17) + (-22), (C) (-81)~(-22),
(D) (-62)+(+61) =

8. H— /\TTEFREL 8 Z1&HVERE P LASSH T HIZEESES ? (A) OR 0x07, (B) XOR 0x08 (C) AND 0x08,
(D) AND 0x07 -

O. MHEI —TELIERIVERZBEFIE? (A) main memory, (B) cache memory, (C) register, (D) read-only
memory °

10.$5 518077 & opcode(4bits) E operand(12 bits)> RIFESEEATA /N (A) 16 E, (B) 256 {[, (C) 4096 &, (D)
65536 {# °

1. —HREEA 5 Jg% —JTRf(full binary tree) » —HH5 %/ DEi%(nodes)?(A) 5 {[E,(B)11 {i,(C)21 {&,(D)31 {& -

12. 5 & —(E TS F R 4T A3 7] & —(EFEE L 16 it W LA™ 17 5 3 (column major) |
TG - RIERE A[2SIIVALE - MR PESIEEAE RS/ DIteE 2 (A) 17, (B) 19, (C) 34, (D) 38 -

138 — 7Tk » QE— - SRS E K (depth-first traversal)5RES > 3 P14 75 204K 1 (post-order
traversal) » HI[#H145 5 52 (A) ABCDEF, (B) CDBFEA, (C) ABECDF, (D) AEFBCD -

147K R 40 LR FH B (B # 3 (breadth-first-traversal ) 551 » Bl - 45 5 2 /5]2 (A) ABCDEF, (B) CDBFEA,
(C) ABECDF, (D) AEFBCD -

15.— (i &5 (link list)5 ¥ A BAMIER AU (EES - SRR A —(ETC R E0EL 25 - 41— » B/ DEE? (A) 2
{iEl, (B) 3 {E, (C) 4 {E, (D) 5 & -

16.5 &5 A[1024] - HNAC&HFHE > BT E—ESHNETFEEEY | » DEESEEEE T
B 5 TR H R LIS EIEZE2A) 1024 2, (B) 9 3K, (C) 10 K, (D) 11 %K -

17 feE A R E e E i IR R S EE TS S BB 7 - A05RE —( A BEAEA 10 [EESE - (REEEass
AU E » TR 25 DR E - T seifé 10 (EEIRE I E 55— (EEEHE B? (A) 10 2, (B) 1023 Z¢, (C) 1024 %, (D)
12K -

18. 7 IEEE excess127 #8248 » 4l =F R EAEHES ) ZBEE(32 bits) 5.75 » H 5 (sign) #2458 (exponent)
TR BE[? © (A) 110000001, (B) 0 10000001, (C) 0 00000010, (D) 0 00000011 -

19.7&_FRE > /INEE 73 (mantissa) &} B {a]? (A) 10111000000000000000000, (B) 01110000000000000000000, (C)
00000000000000000000111, (D) 006000000000000000010111 -

20 F 2B TR BIREZUIROURY > 28HIE 0] LL43 F call by value, call by value of pointer, call by
reference =18 /52, - W& - 5ERIFEZF (o, b) EAVEE B RZL/02(A) (5, 10), (B) (10, 5), (C) (5, 5), (D)
(10, 10) »

21K ERE > BT FAVRER © (a, b) [EAVERH A1 RZ/02(A) (5, 10), (B) (10, 5), (C) (5, 5), (D) (10, 10) -

22. 3 [EZSHHIERE 0 (2, b) BB RTRZE/D2A) (5, 10), (B) (10, 5), (C) (5, 5), (D) (10, 10) -

23 85— Y AN B A LEHET i - AR T—(EEZThEE ) L/ DRVEEIERE? (A) O(n), (B) O(n?), (C)
O(n log n), (D) O(log n) °
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24. 300FR—(BRF] RNEELHTE - MRST - EEEIhEE - TR/ VIEERER? (A) O(n), (B)
O(n?), (C) O(n log n), (D) O(log n) °

25.In the fold shift hashing function method, the key is divided into two-digit parts and the parts are added to find
the address. Use this method to find the address of key 1532. What is the address? (A) 1532, (B) 47, (C) 11, (D)
32.

A ) before ‘;
G @ o after
B — - %&H 12 B —: 28 15
void swap (int ¢ , int d){
int temp=c;
c=d,;
1 8 23 d=temp;
Excess 127 | s | | Exponent Mantissa }
) int main(){
>1gn int a=5,b=10;
swap(a,b);
printf(" %d %d ", a,b);
}
B =:R%EH 18 Bvw A8 20
void swap (int *c , int *d){ void swap (int &c , int &d){
int temp==*c; int temp=c;
*e=*d; c=d;
*d=temp; d=temp;
} j
int main(){ int main(){
int a=5,b=10; int a=5,b=10;
swap(&a,&b); swap(a,b);
printf(" %d %d ", a,b); printf(" %d %d ", a,b);
} }
B A - #2821 Bls< - A8 22




